
ریاضیکارکتاب

«فصل چهارم»

103تا 101صفحه 

به نام خدا
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36 =4 ×929 =7-36
خود کاوه هم نشسته است در حالی که جزو مهمان 

مهمان داشت28. هاحساب نمی شود
35 =1-36





3

3 1

8 4 3 5





✓

×

×
×
✓



✓

×

×
×
✓

1

5

1

4

6





81 =9 +72 ( =9 ×1 ( + )9 ×9 = )9 ×9



81 =9 +72 ( =9 ×1 ( + )9 ×9 = )9 ×9

6 4 10
4 10 14

8 15 23
21 10 11

14 9 23
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(8× 2) –4= 16–4= 12سن برادرش  
(8× 5+ ) 2= 40+ 2= 42سن مادرش  

8+ 12+ 42= 62سن آن ها روی هم  



(8× 2) –4= 16–4= 12سن برادرش  
(8× 5+ ) 2= 40+ 2= 42سن مادرش  

8+ 12+ 42= 62سن آن ها روی هم  

49 =14 +35 =14 ( +7 ×5)
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(8× 5+ ) 2= 40+ 2= 42سن مادرش  

8+ 12+ 42= 62سن آن ها روی هم  

49 =14 +35 =14 ( +7 ×5)
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